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This is a diagramless crossword, but one which doesn’t follow the ‘rules’ for crossword layout because it
was made to draw a picture. Filling in the grid requires no tricks, aside from the occasional (mostly
unhinted) Star Wars clues, marked in blue below. When the grid is filled, there’s an extra row at the
bottom which is clued by down clues from above but not across. Reading across, the puzzle asks “WHO
WAS MY ONLY HOPE?” Since it looks like R2-D2, the answer can only be OBI-WAN KENOBI. Here are
pictures of the filled and empty grid for reference:
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